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UNIT—I
( Main Courses of Indian History )

1. XYMER SRIANFEA WY 4941 ' 3. oY I AfSdrel wife

"?i AR The founder of the Magadha dynas
The metal which was not used by was
the people of Mohenjo-daro was

' (@ s [
(@ e [
Ashoka
gold
) w1 O (b) vEeg (W [
silver Chandragupta Maurya
© °m [ ) R O
copper Bimbisara
(@ e [ (@) e O
iron Dharmapala
2. O WEY W @WE X WHR R
AR 7 4. “SLMY'Y 09 e
Which of the following was not a The author of Arthashastra was
Harappan city?
: (@) sz [
(@ cwom O
Kalhan
Lothal
(b) e O ) @ 0
Dholavira Kautilya
c) e [ () ol O
Mehrgarh Megasthenes
(@ v L () PRTeR [
Banawali Alberuni

/259-A 2
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5. MZI ILNOR 7 =ifRe

Kanishka belonged to
(@ 3 O
Mauryan dynasty

() ¥ 0
Kushana dynasty

(c) “ER3Ix™
Pallava dynasty

(@ =3It [
Chola dynasty

6. TS T(AY T (FEEH TR AR
R P St FRRE 2
Who among the following had
invaded Sind in 712 AD?

(@) FoIFm wime O
Qutub-ud-din Aibak
(b) ¥=m @R O

Muhammad Ghori

(c) yrom Trm O
Sultan Mahmud

" (@) T Raeks O

Muhammad bin Qasim

7. CTNAIY IR R®eT IR

The Somnath Temple was destroyed
by

(a) SERcReR [

Alexander

() WM wz O
Nadir Shah

© =™ O
Babur

(@) yerom gy [
Sultan Mahmud

/259-A

8. fiflr °@ (oToRMla ISR FAR
RatiE|

The Sultan who shifted his capital
from Delhi to Daulatabad was

(a) =W R e [
Muhammad bin Tughlaq

(b) RN et [
Ibrahim Lodi

(¢ P @™ O
Sikandar Lodi

(@) Recars = e O
Firoz Shah Tughlaq

9. RermsR TR ARHe Sk

The founder of the Vijayanagara
Kingdom was

(@ Ry O

Hemu

(b) wETeRE Ra& [
Alauddin Khilji

) ReegE O
Harihara and Bukka

(d) F9fm wilme [

Qutub-ud-din Aibak

10. BRI oR® wERd FREA

Taimur invaded India in

(@ >osy Fprre [
1398 AD

(b) Sxxv AW [
1226 AD

(c) svao Sigrre [
1870 AD

(d) Save AR [
1765 AD

[ P.T.O.



11.

12,

13.

AN =fRE
Who was known as “Zindapir’?
(@ cfm R O
Salim Chisti
(b) 8wER. [
Aurangzeb
) " O
Akbar

(d) = focez O
Dara Shikoh

FrozeR B i shkfke
Fatehpur Sikri was founded by

(@ 3I} O
Babur
m) T O

Humayun

c %" O
Jahangir

(d) sF] O
Akbar

SRILT AW I3 A

The First Battle of Panipat was
fought in

(@) sexv e [
1526 AD

(b) >exa JerRre O
1627 AD

) Sade JrRre [J
1715 AD

(@ svs> rRre [
1811 AD

/259-A

14.

15.

16.

The Dual Administration in Beng
was introduced by

(@ [ O
Robert Clive

(b) =16 TR e [
Lord William Bentinck

fc) oo e [

William Sleeman

(d) el [
Dalhousie

formed in the year

(@) >5x> T [
1921

(b) S»e0Bvs []
1930

c) svvedTe [
1885

(d) >aeavsqge [J

1757

(@) SR IR =1 ey i oS '
Mahatma Gandhi and Aga Khe!
b) I PR oo we R Ew
Ramwee [
Bal Gangadhar Tilak &
Muhammad Ali Jinnah ;

Mahatma Gandhi and 'f

Muhammad Ali Jinnah'ﬁi

@ T omE R e e T
TS [

Bal Gangadhar Tilak and A8
Khan ,



17.

18.

@ S AR MAEE RS 0
AL AR

In violation of the Salt Law, Gandhiji
started a movement called

(@) SN Seaem L

Non-Cooperation Movement

(b) T e [

Swadeshi Movement

(c) <R s e [

Civil Disobedience Movement

(@) oRe opet s L

Quit India Movement

Qe R oS PR

The Rowlatt Act was introduced by

(a) 76w [
Lord Curzon

(b) & e et [
Sir Sidney Rowlatt

(¢ IMI™MAHIW [
Raja Ram Mohan Roy

(@) cemze [l
Dalhousie

/259-A

19. STemfie IR’ NS @ren shiE

20.

Communal Award was announced
by

(a) = om@ [
Mahatma Gandhi

(b) T e [
Ramsay MacDonald

(c) TeoEReew [

Mountbatten

(d) I o feee O
Bal Gangadhar Tilak

RS R seta wiffRs

Cabinet Mission came to India in the
year

(@) >sxovve [
1920

(b) >ssovqs [
1940

(c) sssvvqes [
1946

(d) >s8avye [
1947

[P.T.O.




21.

22,

UNIT—II

( Indian Polity and Human Rights )

e B IEPTelE Wle w9
0 STOIR 14T 2
The total number of members

nominated by the President of India
to the Rajya Sabha is

(@ > [
16
() >v [
18
(¢ s8 [
14
(@ > 0O
12
SRS A4Eae (@I FRfE fic 2

Who appoints the Prime Minister of
India?

(a) cierer [
Lok Sabha

(b) ABefsm O

President

(c) em [

Parliament

(@) smed TeRe O

Citizens of India

/259-A

23.

24,

SRS @I @EE WP w9
TR @I P facy 2

The Chief Minister of g Unic
Territory in India is appointed by tl

(@) CTFCHETS sefs [

Lt. Governor

(b) ReFrtem seamefis v [

majority party in Legislature

(c) T@efern [

President

(@) 24RO

Prime Minister

Cq’_'ff:m ﬁ °rﬁﬂ'ﬁ e &N W ‘?[ﬁ_@
The Union

. Counci]
consists of

of Minister

(@)
g'?b;inﬂ Ministers, Minister 0
ate ang Deputy Ministers
(b) WT’WR‘Q
5 e
Ceilb_lnet Ministerg and Chi€
Nisters of the States
(c) 2urmagy O
Prinne Wimister
(@) R wSrem 0

Cabinet Ministers



25.

26.

@R TS WeA-FeD1 IFR WA PR
=xR?

In which year has the Morley-Minto
Reforms Act been passed?

(@) svov [
1906

() S>vea [
1907

(c) Ssov [
1908

(@ Ssos [
1909

M @I IR [P weM Ten T=m
T IPIfer s Y A
R Rowst AR fig =g |

A person who is not a member of
Parliament can be appointed as a
Minister by the President for a
maximum period of

(@ owiz O3

3 months

) vz O

6 months

) swz O
9 months

(@ sy O
12 months

/259-A

27.

28.

UPRA M SRS]  gyiwal e

e R RS IEPTER AT W
e 7

Who was the member of the Rajya
Sabha when first appointed as the
Prime Minister of India?

(@ s& IR =R O
Lal Bahadur Shastri

) =t O
Charan Singh

) RR& ok O
Morarji Desai

(@ P awm O

Indira Gandhi

ooy RYFI W

=]
e A IEPEze  MeRef
GFAFTA SRET (IR ¢ ?

Under which Article of the
Constitution of India the President
promulgates the constitutional
emergency on the States?

(a) ST oy [
Article 352

(b) g vey [
Article 356

(c) STRG ovo O
Article 360

(d) SR} @R v [

None of the above

[P.T.O.




29. ﬁmﬁﬁ@@@mmﬁmmww 31. W9 S8R (AR
77 SSA TRRYFA TR SIS TR

H .
CRERA R SR dReR el IR uman Rights are

oS (F ?

Which among the following has the (@) & SRFE O
power to legislate on the matters

which are neither in the Union List Universal Rights

nor in the State List nor in the
Concurrent List of the Constitution

of India? (b) TS SfteR [
@ wom O Political Rights L
Parliament b
(b) e Reeerer O (c) wwfee oo [
State Legislature Economic Rights
(c) e Rewrer s e g [
Both State Legislature and (@) &7 (PR O !
Parliament :

None of the above !

@ sem e Rereer

Neither Parliament nor State P );,
Legislature 32. FW vve Rrme TEE RPN "
R e e 2R ?
] i
In which of the following Ye&rs we
30, oReW FReW W (P O SRS the ‘World Co;f:re(;lce g0n Hum?® |
SRR R 7 uF o Rea Rights’ held in Vienna? |
Sl F41 (TR ? ;
(4
In which of the following are the !
basic aims and objectives of the (@ >s>y O i
Constitution discussed? : i
1992 P
(@ 2wmds O "'
Part-1 b) Ss>e [
Schedule-1
() Pemws O @ s O . |
Part-II 1994 |
(@ e O @ -
) S I
The Preamble ¢ O
1995

/259-A 8



29.

30.

e R @R oifEs 31 Aftse wifer
3 S R NS oiFee Wiy
CREART e wiEn 2opmR FTel o9
o9 AT ?

Which among the following has the
power to legislate on the matters
which are neither in the Union List
nor in the State List nor in the

Concurrent List of the Constitution
of India?

(@ wem O

Parliament

(b) A= Reeemr O
State Legislature

(c) s Raertel o ow gt O

Both State Legislature and

Parliament
(@ T A AME Reeprer
| O
Neither Parliament nor State
Legislature

SRON W @ g
RNSEIEE @%WWW%

In which of the fol1
basic aims and obj
Constitution discus

°Wti;'1g are
€Cliveg of
sed? thy
(@ 2™ ys [

Part-1
) PwRsS O
Schedule-1

) "Weras O
Part-II

(d) =m@en [
The Preamble

[/259-A

31.

32.

T SEFE a0z

Human Rights are

(a) THE wfdem O

Universal Rights

(b) IS SR
Political Rights

(0 wRAfes sRer O

Economic Rights

(d) S°RT @I 72 2

None of the above

@ 57e Regere e o
oy SRew e egl :
In which of the followingoﬂ

the ‘World Conferenc®
Rights’ held in Vienn?

(@ sssy O
1992
(b) ssve O
1993
(¢ >sys [
1994
J
[d) ssse O |
1995



33.

34.

R TR (W 2R TR HEFR ?

The Right to Peace belongs to which
generation of Human Rights?

(a) 2o oo [

First generation

(v) ow e [

Second generation

() oo e [

Third generation

(d) €3 AR 7= [

None of the above

‘R wCS 1@, R e Rl
I I A 177 @A G A i 2

“Man is born free, but everywhere he
is in chains.” Who defined it?

(a) AR O
Hobbes

m % O
Locke

© ¥ O

Rousseau

@ vr O

Rawls

/259-A

35.

36.

dabd 599 (I 1§32 Declaration of
the Rights of Man and the Citizens

ol e 2

Which State had adopted the
Declaration of the Rights of Man and
the Citizens in 1789?

(@ 3@ [

France

@) wERe [
UsA

(c M O

Russia

@ wrfiq O

Germany

fem IPRR TR SRFF A 9w
31 2R ?

When has the UN Commission on
Human Rights been formed?

(@) >»8% W d>o &R I
13th February, 1946

(b) >384 51 38 g [
14th February, 1946

(c) >58v 5 se cwg@ [
15th February, 1946

(d) >384 %3 so @ [
16th February, 1946

[ P.T.O.




37. 358y @ W SRIRY  AREAN

38.

CARETITS REHBT SToCot IR ?

How many Articles are there in the
UDHR, 1948?

() e eTRE O
25 Articles

(b) wobl SR [
30 Articles

(c) b S [
35 Articles

(@ sobi s [
40 Articles

oo Ffom IBW T WRFR A
s 0afe 7

When was the National Human
Rights Commission of India formed?

(@ S>>t [
1991

(b) S»>x % [
1992

(c) ssdovve [
1993

(@ S>s»s vy [
1994

/259-A
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39, IPIGE MYRT oI &fem

1982
i
=1 FRfE 2 !
When did the UN ado *ﬂ
: pt ©
Declaration on 3
Development? the  Right

AT SRR A 2t FfRfRe 2

When did the UN General Assem
adopt the Convention on
Political Rights of Women?

(@ ssexvwe [
1952

(b) Ssexvve [
1962

(¢) >daxse [0
1972

(d) >»vxvvs [

(@ >»veoR s Ry [
1st December, 1986

(b) Sdvo o1 s Revw [
2nd December, 1986

(©) 35ve %R © Ry [
3rd December, 1986

(d) ABLY P9 8 *ﬁ,zm 0O
4th December, 1986



41.

42.

UNIT—III

( Major Features of Indian Economy )

O YT SROW WIS (rme @
CRIR?

Which sector is known as the
backbone of the Indian economy?

@ IR_3e O
Agricultural sector

() o e O
Industrial sector

) cmve O

Service sector

d) s e O

None of the above

TR (I TORE YT AIS TEEE
=7

Which one of the following is not
included in tertiary sector?

@ T O
Health

) o= O

Tourism

(c) IR [

Mining

@ = O

Education

/259-A 11

43. T FFYE I TR W TRAMTS
A RECCR Y

Which of the following States is a

leading producer of iron ore in
India?

(a) e O
Odisha

(b) wgeees O
Madhya Pradesh

c) w5 n [

Gujarat

(d s O
Karnataka

44, SR TR CIR SIOF CHRT TH

In India, the largest reserve of gold
is found in

(a) SSHevere [
Andhra Pradesh

m) Fdfoses [
Karnataka

) Raze [
Bihar

(d) e [
Rajasthan

[ P.T.O.



48, cmmﬁ?ﬁﬁawcmﬁﬁm‘w%

45. UNDP-%

TR T e,
§o§0~§8‘WTﬂ%'T?EQETV¥H3§§WW
oS b 2

What is the ranking of India in
Human Development Index (HD])
according to the Human

Development Report, 2023-24 of
UNDP?

(@ sox [J
132

() so8 []
134

(¢ 90 []
130

(d s [

129

46. @aaawmﬁrowvﬁmr§ﬁamwmmuv

47.

Which among the following is a
direct farm subsidy?

(@ ;R O
Farm loan waiver

(b) R IETG  O
Fertilizer subsidy

(c) FTR Ty [
Minimum sSupport price

(d) EETRTS IR [y [

Subsidized crop insurance

cew Re WS 1 L2k

Green Revolution was initiated in
the year

(@) Ssve vy [
1965

(b) ssov vy [
1968

©) Sseetye [
1966

(d) >svovve [
1960

/259-A

Pink Revolution is related to wi
of the following?

(@) IR Beomws [
Fish production

(b) T ¥y [
Meat production

(c) T51 Teomey [
Flower production

(d) Rocoem Seomm [

Mustard oil production

49. WTEWWWQ’W

50.

The size of micro-enterprises is

less than 1 crore of mvestme
and less than 5 crore turnov
(b) >o

w@wwa

© 0 g
J¢o G¢ﬁ3§<3ﬁ§
less thap 20 crore of mvestmﬁ

and less than 250
over

(@) 873 Ghre ey ]
None of the above

ERINST o
T St o

|
‘|
Ry & e (9
In Whlch !

B
Bharat Abpee launchy hanirbhd
(@ 030 O i
2020 |
®) 03y i
2019 !
(€ o3 o
2018
(d) 8153 e = 0O

NOne of the abOVe

e A 2o




51. W SrmIie NS TR 1 T2 54. (I AR ARTHAR SROS Jood

The First Industrial Policy was SITATSIAT SITb{AA Se8 FifReT ?
anpounced in the year Which Five-Year Plan had started
(@) s»8v e [ ?ﬁl;;l:;um Needs Programme in

1948 (a) o4 eI s [

First Five-Year Plan

(b) Ssevsve [

1956 (b) T8 s R O
(c) >5v8 TS O Second Five-Year Plan
1964 (c) “i%% %S “fvFsen [
(d) ss»>svve [ Fifth Five-Year Plan
1991 (d) eI R aBrem [

None of the above

52. S (NITI) SCAS 916 71 (2R

NITI Aayog was formed in 55. W RAIRT *RFsR s wnfee
The First Five-Year Plan was based
(a) SR xode D on
2015

January (@ S-S IR e [
(b) w8 joxo [ Harrod-Domar model

August 2020 (b) e Wﬁ 0O
(c) ‘ﬁl?jfdﬁl sy O Solow model

January 1991 () e Re el O
(d) e’ «hre 7@ [ Mahalanobis model

None of the above : (d) fes=wR O

Myrdal model

53. @Ww@a ﬁﬁwqq'"”' s v 56. (¥F TH® SRS Ry e wem

(WTO)® @iom_ F¢3 ?

Who was the President of First

Five-Year Plan in India? }rﬁa‘ggig;gm ?ii;inlr(a-}jleoggin World
(a) o e 2P L @ sesv [
Dr. Rajendra Prasad 1998
(b) TRIRI CIR® O (b) svse [
Jawaharlal Nehru 1995
(c) 2 R O (¢ sssv [
Indira Gandhi 1948
(d) ST TEAS T O (d s»s> O
None of them 1991

P.T.O.
/259-A 13 [
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57. SRES JReFH e IF I T IW?

58.

Who is known as the Father of
Planning in India?

(o) TaeE e [
Jawaharlal Nehru

(b) R ot Roewm O

.Sir Mokshagundam
Visvesvaraya

(c) @o awem em [
Dr. Rajendra Prasad

(d) e R seme 7= [

None of them

o @Rl [ ERIE RIS
ARTTAS &A1 T ?

Which Five-Year Plan is known as
Gadgil Yojana?

(@) A% e ARewm O

First Five-Year Plan

(b) =om R e O

Second Five-Year Plan

(c) oW RIS 4Res [
Third Five-Year Plan

(@) v9¥ sai¥e sfRewn [
Fourth Five-Year Plan

/1259-A
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59.

60.

GATT &fom dam 2 tafee?
When was GATT first established

() SCIRE svas [
October 1974

(b) SRA ssve [

January 1995

(c) SC3RT >v8s [
October 1944

(d) e*RT e m [

None of the above

TG el IR [oogw
T} HBRST 97 |

In

[
, the literacy rate is th¢
lowest among all States in India.

(@) I_RIgs [
Jharkhand

b) Reme O
Bihar

(c) Igzoes O
Madhya Pradesh

(@) BRare [

Odisha



61.

62.

UNIT—IV

( Basics of Education and Pedagogy )

‘Education’ *RI6 (IO SHF o[l
2R ?

From which language is the term
‘education’ derived?

(@ a0
Latin

(b)wﬂﬂD

German

© o= O
Greek

@ ' O

French

onesrs PP S <1 T X4

Another name of adult education is

(@) ceerst P O

correspondence education

(b) RS BT O

family-centred education

(c) e frer [

social education

(d) T8 Bl O

distance education

/259-A
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63. e AT 98 wCh! b

64.

The third stage of human
development is

(@) T IERE O
late childhood

) *JEem O
early childhood

(c) ongwgeE [l
adulthood

(d) Fomeem O

adolescence

“Reem ez SWee b1 Fw o169 1”7
<% BfRECH F19 2

“School is a miniature of society.”
Whose statement is this?

(@ w@a [
Froebel

) wos O

Montessori

© s O
John Dewey

(@ & O

Pestalozzi

[P.T.O.



65. T (I PRI BT L3RSy 7y 9 68. WA frw taz

Which of the following is not a Informal education is
characteristic of infancy period? (@ T{' Refie [
) (@) ezl [ pre-planned
Playfulness (b) BIsRT [
() W qm O incidental
Hero worship (c) ks [
A systematic
“ - (d) J-ofs []
Self-centredness _
well-organized
(d) =M Rem  [J

Rapid physical growth 69. YR @FRY RemE o R
Which of the following  teachifl|
66. OHP I ™9 ity 3’5 methods is  less engaging Gl
The full form of OHP is Students? |
(@) ST orfs [
fa) Overhead Projector [] Seminar m thod
etho
(b) Overheat Projector [] (b) Jgo ) 0
(c) Overhead Project [] Lecture methog
(d) Overhead Projection [J © oM 1S O
Discussion method
(@) =5 *mfs [
67. “ﬂﬂmﬁﬁﬁﬂé*ﬁwqﬁﬁm Project
’Jﬁ 2 Q'?{%%CBIW? Ject methoq
“Education is the Creation of g
sound mind in g sound body,” 70. R Ry TS ‘Frg @M
Whose statement is thigp Py SRS 2y 9
Which method of is
b’ O Ot the following
(a) based on ‘I,e g y doing)?
Plato (@) 5 0
(b) T REE [ Inductive method
John Dewey (b) SRR TafS 0
(© R8s [ Deductive megpoq
Aristotle (c) ooy bl ) 0 v
Proj
(@ TR& O "eet methog ;f
Gandhiji @) 9 mfs

/259-A 16 ,




71.

72.

73.

/259-A

“Rgm e SRl uF AR
SRACe SR KON 1”7 @} FUER
(I (3RE ?
“Learning is the modification of
behaviour through experience and
training.” Who said this?
@ oz O

Gates
(p) <foie O

Thorndike
) Fwe O

Freud
(@) Pracs [

Piaget

AT ET TERAPRI (TR
The propounder of play-way method
is

(@ IEEa e
Caldwell Cook
®) b’ O

John Dewey
@ @ &% U
J. J. Rousseau

wmﬁqmmmw
SeRfieeR ST el ool S

G CFae TeFE APTACT Ui W ?

Which of the following c'iefense
mechanisms involves covering up
weaknesses or feelings of
inadequacy in one area by excelling
in another area of life?
(a) 2ATHFAV O

Projection
(b) PoareF

Identification

o e O

Fantasy
(@ wfema O

Compensation

17

74, “TERPIOI’ I (IOl T &R
RFPR T g2

‘Gang loyalty’ is the characteristic of
which stage of human life?

(@ e O
Infancy

(b) AeEEeE U
Adulthood

() IeEm [
Childhood

(d) @m0

Adolescence

75. TR @Ol TRe PreR 9o @R
A7

Which of the following is not
a characteristic of distance

education?
(@) P o Prede see Sl
Wy O

Geographical distance between
teacher and learner

() el [
Flexibility

© femm O
Economy

(@ Pres-ceiie O
Teacher-centric

76. ‘FTAFAR NI WA O AW T'A

Another name of the Law of result’
is
(@) TR IR [WRYQ AR O
law of use and disuse
() R A O
law of readiness

(c) &R wF Rk e O

law of satisfaction and
dissatisfaction

(@ SRErR A O

law of motivation

[ P.T.O.

N
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77. R FRRIT TR RIpre 3o 79.  CAIT ™o Toich 7%
ASRT LTI 77 2

Which of the following is not a
supporter of influence of heredity on
human development?

The full form of CAl is

(@) Computer Assisted
Instruction [J

(@) 75w [
Galton (b) Computer Aided
Instruction O
) cews [
Mendel (c) Computer Animated
Instruction |
c) ©ReEw [
. (d) Computer Agent
Darwin
Institution [
@ i 0O
Plato
80. (Mo T R e
e FRfRe o
Who  firgt used
78. ST I R etaene S 9 adjustment the  term
Which of the following is 4
Psychological Principle of teaching?
(@ Eer O
(@) TR NS [ Drever
Principle of flexibility
) <Ry
) “RFFRI [ = 0
Principle of planning Anstotle
() R AW [ (0) Coopipsrg 0
Principle of Correlation Spencer
(@) R M o
Principle of motivation @ R |
Darwin
/259-A
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UNIT—V
( Sociology and Indian Society )

81.

82.

Caste and Class in India 954 8499
CGIF (PN ?

Who is the author of the book, Caste

83. ‘TR IR &1’ Ry IRH
IFT?

“Man is a social animal.” Who said

and Class in India ? this?

(@) & . @ O (@ RS O
G. S. Ghurye Aristotle

w . @5 O ®) R O
Louis Dumont Spencer

© e O © o O
Ketkar Plato

(d) Rl O @ & 0O
Risley Cristo

cqrey A, OISR e 1”7 FIRR
I (MR ?

. PP
there is society.

84. TIEEGE 95 T SR T

One of the basic defects of sociology
is

is life
«Where there 18 1S,
Who said this?
(a) IFoRFoR sorw [
(a) B +5 O lack of objectivity
ste Comte .
poe (b) SR SERRS OO
Qﬁgw O absence of purpose
(b)
istotle
st () FEFRRSER [
@ O ack of fixity
c) ¥
Max Weber @ o P
[ None of the above
oI T
eyl
@ and Page
Maclver [P.T.O.

19
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85. ‘SWReg (IR TnRN-Preers
e’ 1 YRR IR ?

“Sociology is a value-free science.”
Who said this?

(@ s2 3% O
Auguste Comte

p) W@ wes O
Emile Durkheim

() 0 e O
Herbert Spencer

(d) o ®r [
Max Weber

, 86. T (LI @Bl AR ?

Which one of the following is an
institution?

(@) =Rae [
Family
®) I O
State
(¢ “bIwm [
) Party system
] (d) €T CMbXFRH O
| All of the above

87. @ WAFIR o1 T TH

One example of closed stratification
is

(@ wfs O

caste

m) c& O

class

(c) (@)= () TEDE O
Both (a) and (b)

(d) s R e [

None of the above

/259-A

89.

90.

ARPIFA B

Socialization is a process

(a) <1 gfern RGBT ARgrom wiest w1eal
™m0

which ceases at maturity

(b) <61 e et O

which is continuous through life
() 1 oM R e seRe
¥ 0O

which influences society
(d) ST ey [

None of the above

RILRGIEER GRS R

The basic €conomy of rura] society is

(@ Tome [
industry

@) 3/ 0O
agriculture

@ Tmw O
hunting

(d) *Reoem [
reaﬁng of anima)

S T e

To beh .
Society s C. i1 accorg
ty is calleg ance with a

(a) =0
Value

(b) ey 0
norm

(c) ﬁ’qm 0
belief

(d) arey |
Custom

— @

et st e g e i s s e o v




91. o (FH! ROwF T T ?

92.

93.

Which of the following is not a
secondary group?

(a) AR e O
Political party
() eWaR O
A city
() ufF e O

Labour union

(d) s e [

Students in a college

‘>’ *RTCH I °I81 SR ?

From which word is ‘caste’ derived?
(@ s [
Latin
() rgPe [
Portuguese
=t O

Parsi

oT alle(:
w]thm he caste is C
Marriage t

21

94. ARF TR wIF ST SR w i

&I FReR?

Who classified the primary group
and secondary group?

(@ R O
Sumner

(b) GFeize” [
Maclver

() s [
Cooley

(d) s [

Karl Marx

95. What is Sociology qNE RN CRF
&2
Who is the author of the book, What
is Sociology ?

(a) at&® TFew [
Alex Inkeles

(b) <%, @9, w1 [
H. M. Johnson

) e O
Max Weber

(@ =ee3s O
Auguste Comte

96. ST RIS T (LR
Social change refers to
(@) TR RSt [

change of value system

(b) <Toere AReess [
change of food habits

() oA aRees [
change of dress

change of habitation process

[ P.T.O.



97. Co (IO Fo1d AR T 9

98.

Which of the following is an example
of achieved status?

(@ Fres O

Teacher

() T [
King

(€ @ O

Son

@3N 0O
Husband

e (R TR ST W -
T 1’ YRR T (R 2

“Society is a web of
relationship.” Who said this?

social

(a) $%. @, &5 O
H. M. Johnson

b)) Refepasd O
Morris Ginsberg

() CFERER S o/ [

Maclver and Page

(d) B. 9. @rw [
C. H. Cooley

/259-A

22

99. o (FICH! RS SwR Brraet 7w 9

100.

Which of the following is not an
example of social institution?

(@) I=fes = [
Political party

) = O

Family

(¢ Ims [
Namghar

d IFE O

Home

O PR YT sifmrer ST
Which of the follow; i
characteristic of ?oi:lvtm?agmilli? not @
(@ R smopfy O

Private Property




1 N =

UNIT—VI -
( Geography of India—Physical, Economic and Political )

101. STIE *pr T P 2 103. fizR AReY TR @ o1 S SHErs]

What is the height of Mt. Everest? ez 2
Which of the following two parts are
joined by Dihang Pass?

(@) vves o [
8849 metre (@) IEC-cEeEm O3
Bangladesh-Meghalaya
(b) veva Rom [
8667 metre (b) RR-Swe eeer [
Myanmar-Arunachal Pradesh
(c) eass fbm O
5749 metre € om-pm [
Bhutan-Assam
O
(d) ves iR
d A
4254 metre (@ freffy 0O
Tibet-Sikkim

g3 g -
102. %ﬁgwﬁa 104, ¥ JF SR IR SLTS (R IR 2

One of the major west-flowing rivers lBlcaiﬂ{? soil is found in which part of
A Plateau is n
of PenmS'L'llaI'

(@) TeR-ReRes []

“@ m - North-East India
Yamuna
8 (b) TR eres [l
) ¢ K : North-West India
Godavari
(c) Brg-sron weers [
(c) afl [ Indus-Gangetic region
c,
da
e (q) e weere [
insular region
D Peninsu
(@) T
Mahanadl [P.T.O.

23
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105.

106.

107.

YRye SR P @ T Rem
o1 Beerfive = 2

What percentage of total production
of iron ore of India is produced in
Odisha?

(@) eo% [
50%

(b) 0% [
20%

() 0% O
70%

(d) vo% [
60%

SReS CitE Rey o o o9
01 e = 2

Who is regarded as the Father of
Green Revolution in India?

(@ SR.B. v O
R. C. Chandna

b) B.9m wr O
D. R. Khullar

fc) <¥. <5, qE [
M. S. Swaminathan

(d) e R mas = [
None of them

1 R Rz 151 s 9

Blue Revolution is associated with
(@) 3@ S [0
agricultural production
M) MW Berm [0
fish production
(c) & Seom [
milk production
(d) €% Gore 7w [
None of the above

/259-A
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108. TR (FMY I SR [ogs SR

109.

110.

g Teeim T 2

Which of the following States

produces largest quantity of wheat
in India?

(@) =5 [
West Bengal

b) e 2o [
Uttar Pradesh

€) ¥fits [
Karnataka

[d) e O
Kerala

RS- s R IR &1 Ry 2
India-Pakistan border is known as

(@) %=y [
Durand Line

(b) CFIR AT [
McMahon Line

() e ag O
Radcliffe Line

(d) S[/7 ghre = O

None of the above

In  which
establisheq inyear Was  SAARC

Dhaka?
@ ssve O

1985

®) Ssvo O
1980

€ ssvy
1989

(d) Sy D
1983




b

112.

I —_—

111, SAARC 3 I3 %% 918 @337

What is the number of member
countries of SAARC?

@ « O
7

m v O
6

 » O
9

@ v O
8

TEeq I8 Wi IOR AW 2

Which is the largest river ddm of
India?

@ GRm
Tehri Dam

) I O
Kopili Dam

(c) s e @ [
Bhakra Nangal Dam

(d) e*q «bre 7 [
None of the above

113, WWWWW%«W

IE? .
i tates

Which one of the following

produces highest quantity of tea?

(a) L RTRE O
West Bengal

p) e O
Assam

(c) BEAS O
Gujarat

(@ wegm O
Rajasthan

25
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114. SRS Moy B 1% 19 txrx

The longest National Hi i
India is ‘ehweay in

(a) NH-ea []
NH-37
(b) NH-e}
NH-52
) NH-g88
NH-44
(d) NH-9o%
NH-31

O
0
O

115. SRS RbI (qo1 et weg 2

How many railw:
in Indies ay zones are there

(@ >s [

19
b)) >4

17
{c) >e
15
o
13

AT BB R IE
1 JH 2 "

By which name the Internatio
3 C nal
Airport in Kolkata is known?

(a) =S P& g
a T REGIC I R

Maharaj

O
O
(d) O

116.

Chhatrapati  Shivaji
International Airport

(b)ﬂ@r@rﬂgmﬂwm

Netaji Subhas Chandra Boge
International Airport

(c) TP R Sl Rmem [
Indira Gandhi International
Airport

(d) e ame @ [

None of the above

[ P.T.O.



117. $OW P @RI FER 0 TR <3
R ?

Bhutan is touching which district of
Assam?

(@ e O
Goalpara

) & U

Dhubri

© w0
Barpeta

(@) Rz O
Dibrugarh

118. ASEAN (¥ 50 %S (%1 7
In which year was ASEAN formed?

(@ Ssea I
1957

m) Svea [l
1967

© s»a O
1977

(@ ssva O
1087

/259-A
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Lo TRemapfig O

120. TeRR S RYR 2w 3w s

(d) I e

119, TR CFRCH CTEA T oK oIS

iRy Borgere g AR 3 = ?

Which of the following monsoon
winds causes some amount of
rainfall in Tamil Nadu coast?

(@) WPwLeRo R O

South-West monsoon wind

(b) Te3-fon (gl O

North-West monsoon wind

North-East monsoon wind

@ °p-f5 (g O

East-West monsoon wind

Where is Ran, .
. an:
Project located'§ adi Hydel Power

(@ Fem=e O
Nagalang

b) By O
Sikkim

(c) ﬁmm D

Arunachal Pradesh




UNIT—VII
( Tribes of India and Tribal Development )

121. 0% R (ARPEE WPk R
qE/EEN P wwEe  SEpe
TAGISF SIFT© TN T ?
According to 2011 Census, in how
many States/UTs are Scheduled
Tribes notified?
@ ¥ U
26
m) 1 O
27
(c] ¢ O
25
(d) o [J
30
122. mnﬁmswﬁﬂwﬁﬂﬁﬁacfm
wa’@amw%mfmwﬁam
711 25fere 2 ?
Which term describes a social
structure  where descent and
inheritance are traced through the
female line?
(@) TR ILTETH O
Matrilineal descent
(b) Freed O
Patriarchy
(c E0F O
Monarchy
(d) SR aore 7 D
None of the above
wAEl S S
123, OIS RO TET

qY?
Wﬁ ¢ of India Jarawa and

hich region
gln‘ge tribes are found?

27

124. SRES b HF o0 IO THAGOW
Roarm /9 FWERIF?

Which of the following are the
reasons of Tribal Uprisings in 19th
and 20th century India?

(@) IR =R O
Loss of agricultural land

(b) INEAS AR o e T O
Denial of access to forest areas

(c) wareme aa e O
Exploitation by middlemen

(d) e°ra wbiEERe [
All of the above

GaF TSSO  SOPIEROE  SReR
ey wiomn wrel ¥R (ORI AT
AT oSt =Rz |

Nehru favoured the policy of to

make the tribal people integral to
the mainstream India.

1285.

(@) Reemza [
dividing

p) v O
integrating

© crazn O
exploiting

(@) eva wnreRs L
All of the above

[P.T.O.




126.

127.

TR WRYFS TR REwe o
it AP TEeE WS
FIoWE JIFN AR |

The Constitution provided for
setting up of in tribal areas of

States of India to advise on matters
of welfare.

(a) SweIrS Seoindt siffgw [
Tribal Advisory Councils

(b) S fRw O

Tribal Interest Councils

(c) w=efS *¥mm A O
Tribal Testing Councils

(d) R e sz [
None of the above

wpifee Wi W wRefed IR AR
I ARG W T 4399 - AfRE
CIRIR [/ oS W TRt
(PICHT SCRYA BT IR ?

The State is committed to the
welfare of the Scheduled Castes
and-Scheduled Tribes and their
protection from all types of socio-

economic exploitation is a provision
of

(a) ooy so [
Article 40

(b) S 8o [
Article 43

(c) % sy [
Article 46

(d) SIT] Gre wzm [
None of the above

/259-A
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128,

129,

130.

ERTES SPpe WS WE SEIe
P FATHG P AR TRRYTS (T
R wivace Rem g $91 (TR?

The Constitution makes special
provision for reservation of seats for
Scheduled Castes and Scheduled
Tribes in the Lok Sabha through

(a) e v} [
Article 332

(b) SRR oo []
Article 333

(c) SwoR% o8 [
Article 334

(d) =m0 [
Article 33

IR HrFere Rew I|A wwowen 79
S (9= @ B B R) am <
fem

The Committee of Special Multi-

purpose Tribal Blocks (SMPTBs) was
set up under the Chairmanship of

(@) R @=iozm [

Verrier Elwin

() Fepee O
Shilu Ao

(c) TR ez [
Jawaharlal Nehry

(@) /3 gsme g (]
None of them

CReE @R S -
(1SP) s ey O O

In which .

R year was the Tribal
Sub-Plan (TSp) launched in India?
(@ 3>»a8-q¢ [

1974-75
(b) 3%a%-q3
1971-72
(C) bkﬁq—ﬁo
1967-70
(d) ¥ qpp

|
O
O
1987-88



e

131. wElfS AN YgeR @fa gom w4

o ? |
In which year was the Ministry of
Tribal Affairs set up?

@) Ssso5re [
1996

() Ssvavie [
1997

¢ sssv oo [
1998

(d) >sdsvve [
1999

132. GGG ARG TFERE TR ePFfreicy

133.

fafie @3 TRE ARG txr

The cooperative society ad.ministra-
tively controlled by the Ministry of
Tribal Affairs is

(@) B. oR. oE @F. % 1%( O

TRIFED
p) <. & Boaw ff U
NSTFDC
(c) <. 5. «=. 5. O
NCST

) e o O

Autonomous Council

b P LT SR ?

ule Areas are

HAND
How many Sixth Sched

there in Assam?
(a) lﬂﬁ D
One

w B O
Two

o e O

Three
@ wRe O
Four

29
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134.

135.

SEeE Sol-wivf (Frer R S
£33

Tribal Sub-Plan strategy has twin
objectives namely

(@) - Rt e iR o
TEfes JEw [
socio-economic development
and protection of tribal against
exploitation

(b) TRAST (W ©A G WEF 4]
Rwzmsn O

reducing economic inequality
and reduction of disparities in
income and wealth

(c) %ﬁuﬂm HF FEYRTE e

equality of opportunity and '
increase in standard of living

(d) e°93 Wbre 7z []
None of the above

REVIECIE ) ST T A —
Wﬁ?ﬂw, Roov TP} FWRI-
TR S

According to the Scheduled Tribes
and Other Traditional Forest
Dwellers Act, 2006, the forest
dwellers receive

(@) (3T R {E wEFw [
the right to fishing only

(b) MPrTeR SffFR [

ownership rights

() ¥ 3IWN T @RI [

the right to export timber

(d) TAR BIR T Wl [

the right to hunting wild
animals

[ P.T.O.




136. TAFOR { SHTS THSISH IR

137.

T SICEm @RS (2

Tribal Socio-Political Movement in
India before independence mostly
took place in

(a) T-7Re TEion wwere [
Central-Southern Tribal region

(b) TB-e wEen e [
Central-Northern Tribal region

(c) =ifox TEmom St [
Western Tribal region

(d) =R wbiRges U
All of the above

@I e T Reuz SN (27 ?
Kol Uprising started in the region of
(@) A" 1

Kashmir
b)) gsas O

Gujarat

) caomaer O
Chota Nagpur

(d) AR O
Khasi Hills

138. 7 aeernEe o Riterel w0 cfm

Land alienation in the Scheduled
Areas occurs when

(a) SIS TS A AP i
R Wt w e O
tribal society or cultural group
buys the land of another

(b) SeifcaPRRE SRR TS e &
w O
colonists take away the land
belonging to the Zamindars

(c) CPR ABFR T HIPIT 74 T
Government takes over land of
the inhabitants of a country

(d) eR wore 7= [
None of the above

/259-A
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139. ITDPI &¢ f& 7

What ITDP stands for?

(a) Integrated Tribal Development
Project

(b) International Tea Development
Programme

(c) International Tribal Develop-
ment Programme

(d) Integrated Tea Development
Programme

. TS0 (TR ST YRR 9OR

R

Im .
bm éaacts of displacement on tribals

(@) B WY @Ry [

productio
dismantlercll Systems get
(B) SR oafy wyp

Productive
assets and j
sources degenerate neeme

© W“@‘Tﬁ@*ﬁamﬂﬂ»@

€0

I;n vg: et relocateq to new
produm'nents where  their
procs Ctive gk;i S m

Pplicab)e % be less

(d) 8] Wﬁ] O

All of the above



141.

142.

143.

UNIT—VIII
( Logical Reasoning and Numerical Ability )

oI SR 7. 7. B, = 91, 3. 83 @5
HIF [T @ 592 WF 518; WS
SR TOR QIS 296. R o 27

The sum and difference of LCM and
HCF of two numbers are 592 and
518 respectively. Again the sum of
the numbers is 296. The numbers

are

(@) 110, 186 [
() 111, 185 I
¢ 109, 187 0O
@ 112, 184 [J

7843 342(3 T IR ST X
The remainder when 784 is divided
by 342 is

@ 1 O

m o O

© 241 O

@ 84 O
qﬁa2+b2+c2=1’mabcaw

imum
2+b2+02=1, then maxim

3
L
J3

L

() 343
1

@ 273

/259-A
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144.

145.

147.

136x12x8="?
(@ 13056 [J
() 13036 O
() 13136 [

(d 13026 [

T 1581 (PR YR o 2°3
The sum of the first five prime
numbers is

@ 21 O .

m 17 O ‘

) 26 O

@ 28 [

Pl KIR Wpe 3:4 W PRed
.31 8. 120. SR [HR @R 23

The ratio of two numbers is 3:4
and their LCM is 120. The sum of
the numbers is

(@ 98 [
) 70 O
(¢ 118 [
(d) 65 O

gm Tl T gm T SERICH 2]
The f.raction greater than % and less
than 3 is

(a)
()
(c)

ald wid glw wlim O
O 0O O 4d

()

[ P.T.O.



148. 3456+12+8=7?
@ 26 O
m) 32 O
36 O
@ 42 0O

1 1 1

2_ »
42+3=+x+2==13=" xITCRT
149. 45+3¢ 3= 135 R

41,31, x+21-132 Thevalueof
2776 3° 75

x is

(a) 2% O

, ,
() 3% O
(c) 525 O

3
@ 33 O

1,1, 1 1,1, 1
30 42 56 72 90 110
23

The value of
1,21, 1,1, 1
30 42 56 72 90 110

150. RIS

is

@ = O

S
7
(b)ggm

6

(c) 55
2

@ 35

/259-A
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151. WM a+b+c=2s, (ST

152.

153.

(s—a)2 +(s-b)? +(s-c)% +s23
¥ 23
If a+b+c=2s, then the value of
(s—a)2+(s—b)2+(s—c)2+s2 is
@ a®-b2+c2 O
m) a?2+b2+c2 O
() a2+b2-¢2 0O
d a?+p? O

(302032

n
77
The value of
003 0-)
18
@ 1O

n
m 20

n
(© %1 0O
(d) % 0

If (x+ l) =
x)” \/_13, then the value of




154. /176 + 42401 =7 2
158, nﬁ£=§, @ =Y 3wz
@ 23 0O y x“-y
(b) 17 D If£=l then x2+y2 is
’ 2_. 2
© 20 O y 3 x“-y
@ 15 O @ -1° O
9
155. 3M 25a+25b =115, (5B a W% b3 5 O
51 T4 2] b -3
If 25a +25b = 115, then the average
of a and b is (c) Zs O
@ 23 0
4
®) 21 O @ -3 O
19 0
@ 22 O 159. 5009 32% x x3 2:4% = 288; (o7E
156. S 40 LI SIF T 60 TN | ey X3 YA %I
] TS (SSTART TR WYA® 3: 5 3-2% of 500 x 2:4% of x = 288. The
it 2 value of x is
Kanu is 40 years old and Sanu is @ 760 [
60 years old. How many years ago
wasythe ratio of their ages 3:5? ) 670 [
o O ¢/ 750 O
a
(@ p O (@ 755 O
(b)
97 O 160. b1 G T T WF RfF PR e
0 M € 240, I T 20% =W, cory
(d) 10 Rie o 29
~b|-| b-al¥ The difference between the cost
" ’Jﬁ a-6= b, (o8 |a price and selling price of an article
157. i,z ¢ is ¥ 240. If the prOﬁt is 20%, then
i p, then the value O the selling price is
-6=50
If @ -alis (@ ¥1,440 [
'a - bl - |b ’
, O () €1,044 [
a
(@) ] (0 1,404 0O
0
(b) , O (d €104 O
(c) 1
(d) 2 [ '
[P.T.O.
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161. «EAW IPTAE RoF 4w 9N

162.

163.

UNIT—IX
( Commerce and Management )

TGS SR 2

Is there any need for a sole

proprietorship to publish the
account?
(@) =8, gasan [

Yes, necessary
(b) IPIER e[ e St s [
Depends on the businessman
(0 e eore ds v [
Depends on the owner
(d) wrReel g O
Not at all

GEAE IRANE R ARA” o 75
IR

How much liability should a sole
proprietorship owner need to take?

(@) GCTR *Pey ot [
A very little Liability
() @A Az O
No liability at all
() SeiRSw o O
Unlimited liabilities
(@) o#fEe o (O
Restricted liability

SAMRE AN I SR SR 2fSdee
e Rt Bifts w999 2

Which of the partnership firm’s
account cannot record rent paid to
partners?

(@ ST R [
Depreciation Account
() R O
Expenses Account
(c) =rs-caeeH ot [
Profit and Loss Account
(d) = Reer O
Salary Account

/259-A
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164. SR 2foPR pRE R 2

165.

What is partnership firm agreement?

(@) SR =iz O

Partnership Act

(b) SR Mo O
Partnership Deed

¢ g O

Agreement

(d) SRS O
Partnership Contract

AT A, K037 WS A Gy

RER 9F 0 SRR QIRSS
T
Companies set up und

pa er
provisions of the Companiesg 1:2:

2013 have one major ¢ ituti
document called ? Pstitutional

(@) Q1R KRy [

the Company Constitution

(c) WPW @ [

the prospectus

(d) S v [

the object clause



166. TR @M S Yem cvae wE
3?7

Which one of the following
statements relating to debenture is
incorrect?

(@) 993 3% eIy [

Debenture stock is transferable.

(b) @A e qa@ & IR
@R O

A company may not purchase
its own debentures.

(c) FIIQYTFA @A
21eqamIg
A debenture holder is a creditor
of the company.

(@ %ra ¢ FRe aR, @INE
4] A3 R w11 o3 377 [

A debenture is a written
document issued by a company
setting out the terms of a loan.

167. afie 5%, ST O (D A

Trademarks, copyrights and patents

are

(@ =@ O

fixed assets

) wern o O

intangible assets

(c) vfre IS O

current assets
(@ R O
investments

35
12595

168.

169.

170.

AR 1= S 3 s ot «Remy
IR = o1 I =™

The debts which are to be repaid
within a very short duration of time
are called

(@) e a1 [
current liabilities
(b) SR fve ot O
contingent liabilities
(¢ WMo O
fixed liabilities
(d) SR/ > [
All of the above
fr e s ogoR e
E?

Who propounded the opportunity
cost theory of global trade?

(@ Mcsa [
Marshall
) Rere’ O
Ricardo
() &=z [
Haberler
(d) s oe e [
Ohlin and Heckscher

BSE (5C53© MBI (et Reasa
FTMQ?

How many companies are
considered in the BSE Sensex?

(@ ¢ [
25

(p) eco O
50

(c) 0o D
30

(@ 20 0
20

[P.T.O.




171, 3 R iR 3o ok R 2 174. TRPIRF @FoeR wee R e Bl

What is the prime key for a 2RI (1T =]
successful management process? Any written evidence in support of a

(@) g O business transaction is called
Coordination

@) e O (@) s [

Understanding journal

) SEfwms O
Good governance () A O

(d) 9% @y [ ledger
More salary :

(0 W& 2Rk [
172. MOST 3 = Soigh1 gy | ledger postin

What is the full form of MOST? erp &
Maximum, Output, Strategy and voucher
Tools

(b) @, SRy, GoR g
@3 [

Mission, Objectives, Strategies 175. Ry &WWW R &g LB ﬁﬁﬁﬁ
and Tactics va?

(c) IR, =¥, B ey e OJ Which of the foHowipg statements is
Machinery, Office, Staff anq rneorrect for financia] accounting?
Technology

(@) &R,  @MIR, AR qa (@) Rorrmgy T Ay BAPHE
Gor O SRS
Manager, Operator, Seller and Accounting n
Trader hi storical events,ecords only

173. %WWW%WW (b)fiﬂwexﬁf%gm
Ry =

Donations received for a football A Tf o R

tournament are in‘;_zountlng Provides
Irmatj

@ TR afs O Of the firgy, 00Ut all
capital receipts

() IR Ay [ (©) Rorrmag

'@QJMSR
revenue receipts e 0 EREA IR

(c) F@ w/WR O v Accou:["lting informatiOn is based
capital expenditures on estimateg

(@ IRz O »

Tevenue expenditures (d) SR egan 0

/259-A
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176. S ©o (FCOM 3 §RT 41 2

177.

Income is measured on the basis of
which of the following?

(@ R& g [

Matching concept

(b) =Rvfre e [
Consistency concept
(c) FMeRn [

Cost concept

(d) S[R3 o8 7y [

None of the above

I [@@WE ARCEER Pre 3P com

H?
Who is referred to be the Father of
Scientific Management?

(@) R v O
Henry Fayol

) | s O
Robert Owen

() &% e, TR O
F. W. Taylor

(d) ST qE8 T 0O
None of them

178, TG T4 i 4 R 9 e

%3l T8 BRI TN

i hares,
; f forfeited s
ng&er c;e;s;zear‘; forfeiture account
an
is transferred to

(@) e s e ot U

t
General Reserve Accoun

1) - ot U

Profit and Loss Account

(o) el it RO O

i nt
Security Premium Accou

O
(d) sla[qﬁmﬂﬁ@ i@iﬁ

nt
Capital Reserve Accou

/259-A
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179. TP G Ryafe o1e whve

To whom is the term insider trading’
related? :

(@ T [
Hawala

() ¥ O
Public

(c) S/ [
Share market

[ ¥ [

Tax

- ORI RfS e T 0

Which one of the
statements is not correct?

following

()m@\
YaR D TR R ke

Forfeited
reissued.

shares can be

(b) T _ICEHS FI| SR FS
>8 T3 s fgy ﬁz;%;% O
A notice of 14 days to
shareholder is necessary before
forfeiture of shares.

(c) T WA F @]© [T Bty
AT IW Te FE IR I[TR]
IRI -1k 5_

Premium on issue of shares can
be used for writing off the
preliminary expenses.

CENE F WPHR 1 R[Sy Fare
“@ A TS AR a@# Rowiter
wRWEw O
Profit on reissue of forfeited
shares is transferred to General
Reserve Account.

[ P.T.O.




